> RIVAL

m INSTALLATION MANUAL FRONT BAMPER

E MONTAGEEINLEITUNG

For: Stels Viking (2018-)

2444.6743.1;
444.6743.1

i 9D

WWW.RIVAL4X4.COM WWW.RIVALPOWERSPORTS.RU




]
4

A

(@)

)]

©)

4

<

EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIN Kpenex

EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIN Kpenex

EN Screw a several turns
DE Far wenigen Umdrehungen befestigen
RU BkpyTnTb Ha Heckonbko 060poToB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTb Ha HECKONMBbKO 060POTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [BmxeHune

EN Location/Position Arrow
DE Amordrung/Positionsrichtung
RU PacnonoxeHue

EN Screw Arrow
DE Drehungsrichtung
RU lMoBopoTt




= 2

M6x16 x8 | M8x20 x2 | M6x16 x4 | M6x20 x2
8] ® o] & o
(N %

8 ~ x2 \?‘& x2 2 J g x2




> RIVAL




> RIVAL




> RIVAL




£
Z
=)
i
5

> RIVAL

%Wm
A
. ,\AW/@ M
A

i




